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Video - answer key 
 

 
1. It involves inserting a small microchip the size of a grain of rice into your hand. 

2. The technology in place allows the users to enter the building and interact with all the 
machines within the office so there is no need for pass codes. 

3. They wider idea is to test this technology for its pros and cons before it becomes widely 
used by e.g. the tax office or big corporations so when you know how it works, you know 
what to expect and what to watch out for in the future. 
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